# Proving superintegrability in $\beta$-deformed eigenvalue models 

Aditya Bawane ${ }^{\star}$, Pedram Karimi ${ }^{\dagger}$ and Piotr Sułkowski ${ }^{\ddagger}$<br>Faculty of Physics, University of Warsaw, ul. Pasteura 5, 02-093 Warsaw, Poland<br>$\star$ abawane@fuw.edu.pl, † pedram.karimi@fuw.edu.pl, $\ddagger$ psulkows@fuw.edu.pl


#### Abstract

In this note we provide proofs of various expressions for expectation values of symmetric polynomials in $\beta$-deformed eigenvalue models with quadratic, linear, and logarithmic potentials. The relations we derive are also referred to as superintegrability. Our work completes proofs of superintegrability statements conjectured earlier in literature. 

Copyright A. Bawane et al. This work is licensed under the Creative Commons Attribution 4.0 International License. Published by the SciPost Foundation.

Received 04-07-2022 Accepted 18-08-2022 Published 27-09-2022 doi:10.21468/SciPostPhys.13.3.069

\section*{Contents} 1 Introduction ..... 1 2 Gaussian model ..... 3 3 Gaussian model with a linear term ..... 9 4 Linear and logarithmic potential ..... 11 References ..... 12


## 1 Introduction

In this note we prove the superintegrability property of the $\beta$-deformed eigenvalue models. Superintegrability is the statement that certain quantities in an integrable system can be computed explicitly, in consequence of some extra properties in addition to those that guarantee integrability. A prototype example of such a feature is the existence of closed orbits, described by elementary functions, in the motion in the potential $r^{n}$ for $n=-1$ and $n=2$, due to an extra conservation law. Recently the superintegrability has been analyzed in much detail in matrix models, where these extra conditions take form of the string equation and Virasoro constraints. One manifestation of superintegrability in this context is the statement that expectation values of various symmetric functions can be explicitly expressed also in terms of analogous symmetric functions evaluated with appropriate arguments [1-8]. As symmetric
functions in this context can be identified with appropriate characters, such relations are often presented schematically as $\langle$ character $\rangle \sim$ character.

Let us summarize our results, and also recent developments concerning superintegrability, in more detail. While several classes of matrix models have been analyzed in this context in literature, in this note we focus on the following $\beta$-deformed eigenvalue model

$$
\begin{equation*}
Z_{\beta}\left(V ; p_{k}\right) \stackrel{\text { def }}{=} \int\left(\prod_{i=1}^{N} d z_{i}\right)[\Delta(z)]^{2 \beta} \exp \left[-\sum_{i=1}^{N} V\left(z_{i}\right)\right] \exp \left[\beta \sum_{k=1}^{\infty} \frac{p_{k}}{k} \sum_{i=1}^{N} z_{i}^{k}\right] \tag{1}
\end{equation*}
$$

where $\Delta(z)=\prod_{1 \leq i<j \leq N}\left(z_{i}-z_{j}\right)$ is the Vandermonde factor, and we consider two classes of potentials $V(z)$. The first one is the gaussian potential with a linear term

$$
\begin{equation*}
V(z)=\frac{a_{2}}{2} z^{2}+a_{1} z, \tag{2}
\end{equation*}
$$

for which we prove the following superintegrability statement, i.e. an explicit expression for the expectation values of Jack polynomials $P_{\lambda}$

$$
\begin{equation*}
\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle=\frac{P_{\lambda}\{N\} P_{\lambda}\left\{\beta^{-1}\left(a_{2} \delta_{k, 2}-a_{1} \delta_{k, 1}\right)\right\}}{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 1}\right\}} \tag{3}
\end{equation*}
$$

We explain details of the notation in the following sections. This statement was conjectured and verified for $|\lambda| \leq 9$ in [4]. In [7] an outline of a proof was provided in the purely quadratic case $a_{1}=0$, based on the use of $W$-operators and their actions on a family of symmetric functions pertinent to the model. However some of its crucial steps were only conjectured. In this note we fill in these gaps and provide a complete proof of (3). ${ }^{1}$

Furthermore, we also consider a model with a linear and logarithmic terms in the potential

$$
\begin{equation*}
V(z)=-a_{1} z+v \log z \tag{4}
\end{equation*}
$$

and following a similar strategy we prove that

$$
\begin{equation*}
\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle=\frac{P_{\lambda}\{N\} P_{\lambda}\left\{N+\beta^{-1} v+\beta^{-1}-1\right\}}{P_{\lambda}\left\{a_{1} \beta^{-1} \delta_{k, 1}\right\}} . \tag{5}
\end{equation*}
$$

This superintegrability statement was conjectured and verified for $|\lambda| \leq 9$ in [4], and proven in a purely linear case (i.e. for $v=0$ ) in [8].

To sum up, in this note we generalize previous superintegrability statements for the $\beta$ deformed eigenvalue models and provide their complete proofs.

Let us also briefly summarize our work from a broader perspective. In general, our results provide explicit expressions for certain matrix model expectation values. One of the first prominent results of this type is the computation of the Euler characteristics of the moduli space of curves by Harer and Zagier [10], which can be interpreted in terms of enumeration of chord diagrams, or as an explicit computation of the expectation values $\left\langle\operatorname{Tr} M^{n}\right\rangle$ in the gaussian matrix model that involves integration over matrices $M$. The matrix model interpretation of this calculation was further elucidated by Itzykson and Zuber [11]. The gaussian model considered in those works corresponds to $\beta=1$ and $p_{k}=0$ in (1), with the potential (2) with $a_{1}=0$.

More recently, following [1, 2], expectation values of various symmetric polynomials and the phenomenon referred to as superintegrability started to be analyzed more systematically.

[^0]The results for expectation values of Schur polynomials in the actual hermitian matrix model were subsequently generalized to the $\beta$-deformed eigenvalue ensembles, as we mentioned above [4, 7, 8]. Further deformation that involves two parameters, commonly denoted $q$ and $t$, and corresponding superintegrability statement analogous to (3), however involving Macdonald polynomials, were conjectured in [3,4]. For a review of these developments and some recent results see [5,6]. The methods of the proof that we discuss in this paper do not immediately generalize to the ( $q, t$ )-deformed case, therefore we leave it for future consideration.

We also stress that superintegrability is important not only as a property of matrix models, but also in view of their applications in other contexts. On one hand, eigenvalue ensembles and deformations mentioned above arise in gauge theories with extended supersymmetry, in particular in localization of 3-dimensional $\mathcal{N}=2$ theories [4] or in theories with Nekrasov deformation in four dimensions $[12,13]$. On the other hand, they arise in the context of knot invariants [14]. All these relations provide an additional important motivation to derive explicit expressions for expectation values of various symmetric functions.

This paper is organized as follows. In section 2 we provide a proof of superintegrability for the $\beta$-deformed gaussian model with purely quadratic potential. In section 3 we generalize this proof to the case of a gaussian potential with a linear term. In section 4 we prove superintegrability for a model with a potential with a linear and logarithmic terms.

## 2 Gaussian model

Partition functions of our interest, presented already in (1), involve a potential $V(z)$ and are given by

$$
\begin{equation*}
Z_{\beta}\left(V ; p_{k}\right) \stackrel{\text { def }}{=} \int\left(\prod_{i=1}^{N} d z_{i}\right)[\Delta(z)]^{2 \beta} \exp \left[-\sum_{i=1}^{N} V\left(z_{i}\right)\right] \exp \left[\beta \sum_{k=1}^{\infty} \frac{p_{k}}{k} \sum_{i=1}^{N} z_{i}^{k}\right], \tag{6}
\end{equation*}
$$

where $\Delta(z)=\prod_{1 \leq i<j \leq N}\left(z_{i}-z_{j}\right)$ is the Vandermonde factor. As is a common practice, $p_{k}$ do double duty of coupling constants in the action, while also denoting power sum polynomials in terms of which various other symmetric functions are expanded. To start with, in this section we consider the purely gaussian potential

$$
\begin{equation*}
V(z)=\frac{a_{2}}{2} z^{2} . \tag{7}
\end{equation*}
$$

It follows from the invariance of the partition function under the transformation $z_{i} \rightarrow z_{i}+\epsilon z_{i}^{n+1}, n \geq-1, \forall i \in\{1, \ldots, N\}$, that the partition function satisfies the Virasoro constraints:

$$
\begin{equation*}
\mathcal{L}_{n} Z_{\beta}=0, \quad n \geq-1 \tag{8}
\end{equation*}
$$

where the Virasoro operators $\mathcal{L}_{n}, n \geq-1$, satisfy $\left[\mathcal{L}_{n}, \mathcal{L}_{m}\right]=(n-m) \mathcal{L}_{n+m}$. Explicitly,

$$
\begin{equation*}
\mathcal{L}_{n}=-\frac{a_{2}(n+2)}{\beta} \frac{\partial}{\partial p_{n+2}}+L_{n}, \tag{9}
\end{equation*}
$$

where $L_{n}$ 's are the potential-independent part of the Virasoro operators:

$$
\begin{align*}
L_{-1}= & \beta p_{1} N+\sum_{k=1}^{\infty} k p_{k+1} \frac{\partial}{\partial p_{k}}, \\
L_{0}= & \beta N^{2}+(1-\beta) N+\sum_{k=1}^{\infty} k p_{k} \frac{\partial}{\partial p_{k}}, \\
L_{n>0}= & \sum_{k=1}^{\infty}(n+k) p_{k} \frac{\partial}{\partial p_{n+k}}+2 N n \frac{\partial}{\partial p_{n}}+  \tag{10}\\
& +\frac{1}{\beta} \sum_{k=1}^{n-1} k(n-k) \frac{\partial^{2}}{\partial p_{k} \partial p_{n-k}}+\frac{1-\beta}{\beta} n(n+1) \frac{\partial}{\partial p_{n}} .
\end{align*}
$$

It follows a fortiori that

$$
\begin{equation*}
-a_{2}^{-1} \beta \sum_{n=1}^{\infty} p_{n} \mathcal{L}_{n-2} Z_{\beta} \stackrel{\text { def }}{=}\left(\mathcal{D}-a_{2}^{-1} W_{-2}\right) Z_{\beta}=0 \tag{11}
\end{equation*}
$$

where we have defined $\mathcal{D} \stackrel{\text { def }}{=} \sum_{n=1}^{\infty} n p_{n} \frac{\partial}{\partial p_{n}}$ and

$$
\begin{align*}
W_{-2} \stackrel{\text { def }}{=} & \beta^{2} N p_{1}^{2}+\beta^{2} N^{2} p_{2}+(1-\beta) \beta N p_{2} \\
& +\sum_{k, l=1}^{\infty}\left[\beta(k+l-2) p_{k} p_{l} \frac{\partial}{\partial p_{k+l-2}}+k l p_{k+l+2} \frac{\partial^{2}}{\partial p_{k} \partial p_{l}}\right]  \tag{12}\\
& +\sum_{k=1}^{\infty}\left[2 \beta N k p_{k+2} \frac{\partial}{\partial p_{k}}+(1-\beta) k(k+1) p_{k+2} \frac{\partial}{\partial p_{k}}\right]
\end{align*}
$$

It can be verified that $\left[\mathcal{D}, W_{-2}\right]=2 W_{-2}$. The partition function (6) can be then written as

$$
\begin{equation*}
Z_{\beta}=e^{W_{-2} / 2 a_{2}} \cdot 1 \tag{13}
\end{equation*}
$$

Our goal is to evaluate the right-hand side above. It turns out that the Jack polynomials constitute a natural basis of special functions to describe the action of $W_{-2}$.

We denote Jack polynomials in the so-called $P$ normalization as $P_{\lambda}$. This notation is standard in literature on symmetric polynomials, see e.g. [15]. These are precisely the ones denoted as $J_{\lambda}$ in recent works on superintegrability [7,8]. However, the reader should note that in the literature on symmetric functions, $J_{\lambda}$ is used for Jack polynomials in the so-called $J$ normalization, also known as the integral form of Jack polynomials. The latter ones are rarely used in this work.

When a symmetric function, $P_{\lambda}$ for instance, is written in terms of the basic variables, we will denote its arguments within parentheses: $P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)$. More often, we will need to write them in terms of the power sum polynomials $p_{k}=\sum_{i=1}^{N_{i}^{N}} z_{i}^{k}$, in which case we will denote them as $P_{\lambda}\left\{p_{k}\right\}$. In particular, $P_{\lambda}\{f(k)\}$ is a short-hand for $P_{\lambda}\left\{p_{k}=f(k)\right\}$.

Jack polynomials are known to be eigenfunctions of the following operators [16]:

$$
\begin{align*}
& \mathcal{D}=\sum_{k=1}^{\infty} k p_{k} \frac{\partial}{\partial p_{k}}, \\
& \mathcal{H}=\frac{1}{2} \sum_{k, l=1}^{\infty}\left[\beta(k+l) p_{k} p_{l} \frac{\partial}{\partial p_{k+l}}+k l p_{k+l} \frac{\partial^{2}}{\partial p_{k} \partial p_{l}}\right]+\frac{1-\beta}{2} \sum_{k=1}^{\infty} k(k-1) p_{k} \frac{\partial}{\partial p_{k}} \tag{14}
\end{align*}
$$

so that

$$
\begin{align*}
& \mathcal{D} P_{\lambda}=|\lambda| P_{\lambda}, \\
& \mathcal{H} P_{\lambda}=c_{\lambda}^{(\beta)} P_{\lambda}, \tag{15}
\end{align*}
$$

where $|\lambda|=\sum_{i} \lambda_{i}$ is the number of boxes in the partition $\lambda$ and

$$
\begin{equation*}
c_{\lambda}^{(\beta)}=\sum_{(i, j) \in \lambda}(j-1-\beta(i-1))=n\left(\lambda^{\prime}\right)-\beta n(\lambda) . \tag{16}
\end{equation*}
$$

To our knowledge, the earliest version of this result appears as Theorem 3.1 in [17] (whose author, R. P. Stanley, attributes it to I. G. Macdonald), but the operator is presented in terms of the basic variables rather than the power sum polynomials.

Also, note that the operator $\mathcal{H}$ defined above differs from a similar operator defined in [8] and [16] by a shift of $\mathcal{D}$. This makes the eigenvalues of the resulting operator more natural, while also simplifying the expression (17) for $W_{-2}$ given below.

A crucial step in the proof is determining the action of $W_{-2}$ on Jack polynomials. In [8], $W_{-2}$ was presented in terms of $\mathcal{H}$ when $\beta=1$, which lets us almost immediately read off the action of $W_{-2}$ on the Schur polynomials. Following a similar strategy for an indeterminate $\beta$, one finds

$$
\begin{align*}
W_{-2}= & \frac{1}{4}\left[\mathcal{H},\left[\mathcal{H}, p_{2}\right]\right]+N \beta\left[\mathcal{H}, p_{2}\right] \\
& +N^{2} \beta^{2} p_{2}-\frac{1}{4}\left(1-\beta+\beta^{2}\right) p_{2}-\frac{\beta(1-\beta)}{4} p_{1}^{2} . \tag{17}
\end{align*}
$$

We will also need the following Pieri rule for Jack polynomials (see Theorem 6.3 of [18], and [19] for additional explanations and examples):

$$
\begin{equation*}
P_{\left(1^{r}\right)} P_{\mu}=\sum_{\lambda} c_{\mu,\left(1^{r}\right)}^{\lambda} P_{\lambda}, \tag{18}
\end{equation*}
$$

where the coefficients $c_{\mu,\left(1^{r}\right)}^{\lambda}$ are known and to which we will return later. For now, we simply note that the sum on the right runs over partitions $\lambda$ such that $\lambda-\mu$ is a vertical $r$-strip (i.e. a skew diagram consisting of $r$ boxes, no two of which are in the same row). We also note that $P_{\left(1^{r}\right)}=s_{\left(1^{r}\right)}=e_{r}$, where $s$ and $e$ are the Schur and elementary symmetric polynomials respectively.

There is a similar Pieri rule for Jack polynomials indexed by row partitions (see Proposition 5.3 and Theorem 6.1 in [17]), given in terms of the $J_{\lambda}$ :

$$
\begin{equation*}
J_{r} J_{\mu}=\sum_{\lambda} \frac{g_{\mu, r}^{\lambda}}{j_{\lambda}} J_{\lambda}, \tag{19}
\end{equation*}
$$

where now the sum runs over partitions $\lambda$ such that $\lambda-\mu$ is a horizontal $r$-strip (i.e. a skew diagram consisting of $r$ boxes, no two of which are in the same column). The constants $g_{\mu, r}^{\lambda}$ and $j_{\lambda}$ are known, but we will not need to use them.

In particular, for $r=1$, the diagrams $\lambda$ on the right are those obtained by adding one box to $\mu$. Multiplying two factors of $P_{1}=p_{1}$ with $P_{\mu}$ therefore gives a sum over all partitions where two boxes are added to $\mu$ without any constraint. For $r=2$, multiplying with $P_{(1,1)}=\left(p_{1}^{2}-p_{2}\right) / 2$ gives a sum over partitions, where the two additional squares cannot be in the same row. Consequently, expanding $p_{2} P_{\mu}$ over Jack polynomials gives a sum over partitions where two boxes are added to $\mu$ without any constraint. One may therefore write

$$
\begin{equation*}
p_{2} P_{\mu}=\sum_{\lambda=\mu+\square+\square} C_{\mu \lambda} P_{\lambda} . \tag{20}
\end{equation*}
$$

One may also write

$$
\begin{equation*}
p_{1}^{2} P_{\mu}=\sum_{\lambda=\mu+\square+\square} A_{\mu \lambda} C_{\mu \lambda} P_{\lambda} . \tag{21}
\end{equation*}
$$

Using this notation and (17), the action of $W_{-2}$ on a Jack polynomial is:

$$
\begin{align*}
W_{-2} P_{\mu}=\sum_{\lambda=\mu+\square_{1}+\square_{2}}[ & \left(j_{1}-1+\beta\left(N-i_{1}+1\right)\right)\left(j_{2}-1+\beta\left(N-i_{2}+1\right)\right) \\
& +\frac{1}{4}\left(j_{2}-j_{1}+\beta\left(i_{1}-i_{2}\right)\right)^{2}-\frac{1}{4}\left(1-\beta+\beta^{2}\right)  \tag{22}\\
& \left.-\frac{\beta(1-\beta)}{4} A_{\mu \lambda}\right] C_{\mu \lambda} P_{\lambda},
\end{align*}
$$

where ( $i_{1}, j_{1}$ ) and ( $i_{2}, j_{2}$ ) are coordinates of boxes $\square_{1}$ and $\square_{2}$ respectively. We observe that the first line on the right-hand side corresponds precisely to the expression in eqn. (35) of [7] (noting that they count rows and columns starting from 0 , while we begin counting from 1 ). We now show, by computing $A_{\mu \lambda}$, that the terms in the second and third rows cancel.

Observe that

$$
\begin{equation*}
A_{\mu \lambda}=\frac{\left\langle P_{\lambda}, p_{1}^{2} P_{\mu}\right\rangle}{\left\langle P_{\lambda}, p_{2} P_{\mu}\right\rangle}, \tag{23}
\end{equation*}
$$

where $\langle\cdot, \cdot\rangle$ denotes the Jack scalar product. The constraint in the summation in (18) tells us that $\left\langle P_{\mu+\square}, P_{(1,1)} P_{\mu}\right\rangle=0$, implying that $A_{\mu, \mu+\square}=1$. Likewise, (19) tells us that $\left\langle J_{\mu+} \square^{,} J_{2} J_{\mu}\right\rangle=0$. Using $J_{2}=p_{1}^{2}+\beta^{-1} p_{2}$ we see that

$$
\begin{equation*}
-\beta=\frac{\left\langle J_{\mu+} \square, p_{1}^{2} J_{\mu}\right\rangle}{\left\langle J_{\mu+} \square^{\prime}, p_{2} J_{\mu}\right\rangle}=\frac{\left\langle P_{\mu+} \square, p_{1}^{2} P_{\mu}\right\rangle}{\left\langle P_{\mu+} \nabla^{\cdot}, p_{2} P_{\mu}\right\rangle}=A_{\mu, \mu+\square} . \tag{24}
\end{equation*}
$$

More generally, one can write

$$
\begin{equation*}
A_{\mu \lambda}=\frac{\left\langle P_{\lambda}, p_{1}^{2} P_{\mu}\right\rangle}{\left\langle P_{\lambda}, P_{2} P_{\mu}\right\rangle}=\frac{1}{1-2 \frac{\left\langle P_{\lambda}, P_{(1,1)} P_{\mu}\right\rangle}{\left\langle P_{\lambda}, P_{1}^{2} P_{\mu}\right\rangle}} . \tag{25}
\end{equation*}
$$

We consider now the case where the two boxes are staggered, i.e. added to neither the same row nor the same column. The above expression can be related to the coefficients appearing in the Pieri rule (18) as

$$
\begin{equation*}
\frac{\left\langle P_{\lambda}, P_{1}^{2} P_{\mu}\right\rangle}{\left\langle P_{\lambda}, P_{(1,1)} P_{\mu}\right\rangle}=\frac{\sum_{\sigma=\mu+\square} c_{\sigma, 1}^{\lambda} c_{\mu, 1}^{\sigma}}{c_{\mu,(1,1)}^{\lambda}}=\frac{c_{\mu+\square_{2}, 1}^{\mu+\square_{1}+\square_{2}} c_{\mu, 1}^{\mu+\square_{2}}+c_{\mu+\square_{1}, 1}^{\mu+\square_{1}+\square_{2}} c_{\mu, 1}^{\mu+\square_{1}}}{c_{\mu,(1,1)}^{\mu+\square_{1}+\square_{2}}} . \tag{26}
\end{equation*}
$$

The sum over $\sigma$ in the middle expression consists of two terms, corresponding to the order in which the two boxes are added to reach the same final shape $\lambda=\mu+\square_{1}+\square_{2}$. Without loss of generality, we may label the box to the left as box $1\left(\square_{1}=\left(i_{1}, j_{1}\right)\right)$ and the one to the right as box $2\left(\square_{2}=\left(i_{2}, j_{2}\right)\right)$, so that $i_{1}>i_{2}$ and $j_{1}<j_{2}$.

We now need the explicit form of the coefficients:

$$
\begin{equation*}
c_{\mu,\left(1^{r}\right)}^{\lambda}=\prod_{s \in X(\lambda / \mu)} \frac{h_{*}^{\lambda}(s) h_{\mu}^{*}(s)}{h_{*}^{\mu}(s) h_{\lambda}^{*}(s)}, \tag{27}
\end{equation*}
$$

where $X(\lambda / \mu)$ is the set of boxes $(i, j) \in \mu$ such that $\mu_{i}=\lambda_{i}$ and $\mu_{j}<\lambda_{j}$. For example, in the figure below, $\mu=(7,5,3,3,1,1)$, and the yellow squares are the ones that have been added to obtain various $\lambda$ 's, while the blue squares constitute the set $X(\lambda / \mu)$. Note how on adding two boxes together, as in the last figure, we get one blue box less than the union of the set of blue boxes when only one box is added at a time.


Furthermore, in (27), $h_{\lambda}^{*}(s)$ and $h_{*}^{\lambda}(s)$ are respectively the upper and lower hook lengths of the box $s$ :

$$
\begin{align*}
& h_{\lambda}^{*}(s)=\beta^{-1}\left(a_{\lambda}(s)+1\right)+l_{\lambda}(s), \\
& h_{*}^{\lambda}(s)=\beta^{-1} a_{\lambda}(s)+l_{\lambda}(s)+1, \tag{28}
\end{align*}
$$

where $a_{\lambda}(i, j)=\lambda_{i}-j$ is the arm length and $l_{\lambda}(i, j)=\lambda_{j}^{\prime}-i$ is the leg length of $(i, j) \in \lambda$. (A useful mnemonic is that in the definition of the lower hook length of a given box, the box itself is treated as part of the leg, going downwards.) For example, the yellow square in the diagram below has coordinates $(i, j)=(2,3)$, with $a_{\lambda}=4, l_{\lambda}=2, h_{\lambda}^{*}=5 \beta^{-1}+2$, and $h_{*}^{\lambda}=4 \beta^{-1}+3$.


Consider now the first term of (26), where the box on the right $\left(\square_{2}\right)$ is added first:

$$
\begin{equation*}
t_{1}\left(\square_{1}, \square_{2}\right) \stackrel{\text { def }}{=} \frac{c_{\mu+\square_{2}, 1}^{\mu+\square_{2}} c_{\mu, 1}^{\mu+\square_{2}}}{c_{\mu,(1,1)}^{\mu+\square_{1}+\square_{2}}} \tag{29}
\end{equation*}
$$

Due to the product form of (27), one can expect a lot of cancellations in the above expression. However, exactly one factor survives: the contribution to $c_{\mu+\square_{2}, 1}^{\mu+\square_{1}+\square_{2}}$ due to the box $\left(i_{2}, j_{1}\right)$, which does not appear in the denominator. Therefore

$$
\begin{align*}
t_{1}\left(\square_{1}, \square_{2}\right) & =\frac{h_{*}^{\mu+\square_{1}+\square_{2}}\left(i_{2}, j_{1}\right) h_{\mu+\square_{2}}^{*}\left(i_{2}, j_{1}\right)}{h_{*}^{\mu+\square_{2}}\left(i_{2}, j_{1}\right) h_{\mu+\square_{1}+\square_{2}}^{*}\left(i_{2}, j_{1}\right)}  \tag{30}\\
& =\frac{\left[\beta^{-1}\left(j_{2}-j_{1}\right)+i_{1}-i_{2}+1\right]\left[\beta^{-1}\left(j_{2}-j_{1}+1\right)+i_{1}-i_{2}-1\right]}{\left[\beta^{-1}\left(j_{2}-j_{1}+1\right)+i_{1}-i_{2}\right]\left[\beta^{-1}\left(j_{2}-j_{1}\right)+i_{1}-i_{2}\right]} .
\end{align*}
$$

(It helps to note that $i_{1}=\mu_{j_{1}}^{\prime}+1, j_{1}=\mu_{i_{1}}+1, i_{2}=\mu_{j_{2}}^{\prime}+1$, and $j_{2}=\mu_{i_{2}}+1$.) In the second term of (26), where the left box $\left(\square_{1}\right)$ is added first

$$
\begin{equation*}
t_{2}\left(\square_{1}, \square_{2}\right) \stackrel{\operatorname{def}}{=} \frac{c_{\mu+\square_{1}, 1}^{\mu+\square_{1}+\square_{2}} c_{\mu, 1}^{\mu+\square_{1}}}{c_{\mu,(1,1)}^{\mu+\square_{1}+\square_{2}}} \tag{31}
\end{equation*}
$$

one has similar cancellations, leaving a contribution to $c_{\mu, 1}^{\mu+\square_{1}}$ due to the box $\left(i_{2}, j_{1}\right)$ :

$$
\begin{align*}
t_{2}\left(\square_{1}, \square_{2}\right) & =\frac{h_{*}^{\mu+\square_{1}}\left(i_{2}, j_{1}\right) h_{\mu}^{*}\left(i_{2}, j_{1}\right)}{h_{*}^{\mu}\left(i_{2}, j_{1}\right) h_{\mu+\square_{1}}^{*}\left(i_{2}, j_{1}\right)}  \tag{32}\\
& =\frac{\left[\beta^{-1}\left(j_{2}-j_{1}-1\right)+i_{1}-i_{2}+1\right]\left[\beta^{-1}\left(j_{2}-j_{1}\right)+i_{1}-i_{2}-1\right]}{\left[\beta^{-1}\left(j_{2}-j_{1}\right)+i_{1}-i_{2}\right]\left[\beta^{-1}\left(j_{2}-j_{1}-1\right)+i_{1}-i_{2}\right]} .
\end{align*}
$$

We digress momentarily to point out that $t_{1}\left(\square_{1}, \square_{2}\right)=t_{2}\left(\square_{2}, \square_{1}\right)$. This is not a priori obvious because the labels 1 and 2 were assigned based on the relative positions of the boxes, and indeed the intermediate expressions in terms of the hook lengths $h^{*}$ and $h_{*}$ are not manifestly equal under this exchange.

We now have the expression for $A_{\mu \lambda}$ :

$$
\begin{equation*}
A_{\mu \lambda}=\frac{\beta-1+\left(j_{2}-j_{1}+\beta\left(i_{1}-i_{2}+1\right)\right)\left(j_{2}-j_{1}+\beta\left(i_{1}-i_{2}-1\right)\right)}{\beta(1-\beta)} . \tag{33}
\end{equation*}
$$

While we derived this with the assumption that $\lambda-\mu$ was neither a row nor a column, we see that these two cases are also captured by this expression, as can be seen by setting $i_{1}=i_{2}, j_{2}-j_{1}=1$ or $j_{1}=j_{2}, i_{1}-i_{2}=1$ for a row or a column respectively. This is therefore the general expression.

It is now straightforward to see that

$$
\begin{equation*}
\beta(1-\beta) A_{\mu \lambda}=\left(j_{2}-j_{1}+\beta\left(i_{1}-i_{2}\right)\right)^{2}-\left(1-\beta+\beta^{2}\right), \tag{34}
\end{equation*}
$$

thus proving

$$
\begin{equation*}
W_{-2} P_{\mu}=\sum_{\lambda=\mu+\square_{1}+\square_{2}}\left(j_{1}-1+\beta\left(N-i_{1}+1\right)\right)\left(j_{2}-1+\beta\left(N-i_{2}+1\right)\right) C_{\mu \lambda} P_{\lambda} . \tag{35}
\end{equation*}
$$

To calculate (13), we need to act with $W_{-2}$ multiple times on $P_{\phi}=1$, which can now be done using (35):

$$
\begin{align*}
\left(W_{-2}\right)^{n} \cdot 1=\sum_{\lambda=\lambda(2 n)}[ & \prod_{(i, j) \in \lambda}(j-1+\beta(N-i+1))  \tag{36}\\
& \left.\times \sum_{\lambda(2) \ldots, . \lambda(2 n-2)} C_{\phi \lambda(2)} C_{\lambda(2) \lambda(4)} \ldots C_{\lambda(2 n-2) \lambda(2 n)} P_{\lambda}\right],
\end{align*}
$$

where $\lambda^{(2 m)}$ is obtained by adding 2 boxes successively $m$-times starting from the initial empty partition $\phi$, so that $\left|\lambda^{(2 m)}\right|=2 m$. The rest of the proof consists of writing the product over the cells in the first line, and the sum of products of $C$ 's in the second line, in terms of Jack polynomials $P_{\lambda}\left\{p_{k}\right\}$ evaluated at special values of the power sum polynomials $p_{k}$.

We begin with the C's. The Cauchy identity for Jack polynomials reads

$$
\begin{equation*}
\exp \left[\beta \sum_{k=1}^{\infty} \frac{p_{k} \bar{p}_{k}}{k}\right]=\sum_{\lambda} \frac{P_{\lambda}\left\{p_{k}\right\} P_{\lambda}\left\{\bar{p}_{k}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} . \tag{37}
\end{equation*}
$$

Setting $\bar{p}_{k}=a_{2} \beta^{-1} \delta_{k, 2}$ we see that

$$
\begin{equation*}
\exp \left[\frac{a_{2} p_{2}}{2}\right]=\sum_{\lambda} \frac{P_{\lambda} \cdot P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 2}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \tag{38}
\end{equation*}
$$

On the other hand, directly by the definition of $C_{\mu \lambda}$ in (20), we see that

$$
\begin{equation*}
\exp \left[\frac{a_{2} p_{2}}{2}\right]=\sum_{n \geq 0} \frac{a_{2}^{n} P_{\lambda(2 n)}}{2^{n} n!} \sum_{\lambda^{(2)} \ldots \lambda^{(2 n-2)}} C_{\phi \lambda^{(2)}} C_{\lambda^{(2)} \lambda^{(4)}} \ldots C_{\lambda^{(2 n-2)} \lambda^{(2 n)}} \tag{39}
\end{equation*}
$$

The above expressions together give

$$
\begin{equation*}
\sum_{\lambda^{(2)} \ldots \lambda(2 n-2) ; \lambda(2 n)=\lambda} C_{\phi \lambda(2)} C_{\lambda(2) \lambda(4)} \ldots C_{\lambda(2 n-2) \lambda(2 n)}=\frac{2^{|\lambda| / 2}(|\lambda| / 2)!}{a_{2}^{|\lambda| / 2}} \frac{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 2}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} . \tag{40}
\end{equation*}
$$

For the first line of (36), we turn to [15]. By eqn. (10.20) in this reference

$$
\begin{equation*}
P_{\lambda}\{N\}=\prod_{(i, j) \in \lambda} \frac{\beta^{-1}(j-1)+N-i+1}{h_{*}^{\lambda}(i, j)} \tag{41}
\end{equation*}
$$

while eqns. (10.22) and (10.29) tell us that

$$
\begin{equation*}
P_{\lambda}\left\{\delta_{k, 1}\right\}=\prod_{(i, j) \in \lambda} \frac{1}{h_{*}^{\lambda}(i, j)} . \tag{42}
\end{equation*}
$$

Putting these together, we can write

$$
\begin{equation*}
\prod_{(i, j) \in \lambda}(j-1+\beta(N-i+1))=\frac{P_{\lambda}\{N\}}{P_{\lambda}\left\{\beta^{-1} \delta_{k, 1}\right\}} \tag{43}
\end{equation*}
$$

We now have all the ingredients to write (13) entirely in terms of Jack polynomials:

$$
\begin{equation*}
Z_{\beta}\left(p_{k}\right)=e^{W_{-2} / 2 a_{2}} \cdot 1=\sum_{\lambda} \frac{P_{\lambda}\left\{p_{k}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \frac{P_{\lambda}\{N\} P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 2}\right\}}{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 1}\right\}} \tag{44}
\end{equation*}
$$

(Note that $P_{\lambda}\left\{x \delta_{k, 2}\right\}=x^{|\lambda| / 2} P_{\lambda}\left\{\delta_{k, 2}\right\}$ and $P_{\lambda}\left\{x \delta_{k, 1}\right\}=x^{|\lambda|} P_{\lambda}\left\{\delta_{k, 1}\right\}$.) On the other hand, again by the Cauchy identity (37), one can expand the partition function (6) as

$$
\begin{equation*}
Z_{\beta}\left(V ; p_{k}\right)=\sum_{\lambda} \frac{P_{\lambda}\left\{p_{k}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle}\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle, \tag{45}
\end{equation*}
$$

regardless of the potential in question. The orthogonality of the Jack polynomials gives us the desired result

$$
\begin{equation*}
\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle=\frac{P_{\lambda}\{N\} P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 2}\right\}}{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 1}\right\}} \tag{46}
\end{equation*}
$$

## 3 Gaussian model with a linear term

We now consider a slightly more general potential

$$
\begin{equation*}
V(z)=\frac{a_{2}}{2} z^{2}+a_{1} z \tag{47}
\end{equation*}
$$

and denote the corresponding partition function (6) as $Z_{\beta}\left(a_{2}, a_{1} ; p_{k}\right)$. The Virasoro operators annihilating the partition function are modified to

$$
\begin{equation*}
\mathcal{L}_{n}=-\frac{a_{2}(n+2)}{\beta} \frac{\partial}{\partial p_{n+2}}-\frac{a_{1}(n+1)}{\beta} \frac{\partial}{\partial p_{n+1}}-a_{1} N \delta_{n,-1}+L_{n}, \quad n \geq-1 \tag{48}
\end{equation*}
$$

where $L_{n}$ 's are given in (10). The Virasoro constraints now imply the single equation

$$
\begin{equation*}
\left(\mathcal{D}-\frac{W_{-2}}{a_{2}}+\frac{a_{1} L_{-1}}{a_{2}}\right) Z_{\beta}\left(a_{2}, a_{1} ; p_{k}\right)=0 \tag{49}
\end{equation*}
$$

where $W_{-2}$ is the same as in (12), and $\left[\mathcal{D}, L_{-1}\right]=L_{-1}$. A crucial observation is that $\left[W_{-2}, L_{-1}\right]=0$. The partition function can now be written as

$$
\begin{equation*}
Z_{\beta}\left(a_{2}, a_{1} ; p_{k}\right)=\exp \left[\frac{W_{-2}}{2 a_{2}}-\frac{a_{1} L_{-1}}{a_{2}}\right] \cdot 1=e^{W_{-2} / 2 a_{2}} \cdot e^{-a_{1} L_{-1} / a_{2}} \cdot 1 . \tag{50}
\end{equation*}
$$

We now follow a similar strategy as in the previous section: we work out the action of $L_{-1}$ on Jack polynomials. This, as we have seen, is facilitated by writing it in terms of the operator $\mathcal{H}$, defined in (14), which has the Jack polynomials as its eigenfunctions:

$$
\begin{equation*}
L_{-1}=\left[\mathcal{H}, p_{1}\right]+\beta N p_{1} . \tag{51}
\end{equation*}
$$

Analogously to (20), let us define constants $B_{\mu \lambda}$ as coefficients in the expansion

$$
\begin{equation*}
p_{1} P_{\mu}=\sum_{\lambda=\mu+\square} B_{\mu \lambda} P_{\lambda} . \tag{52}
\end{equation*}
$$

These constants are of course known due to (27), but we will not need their explicit expression, just as in the case of $C_{\mu \lambda}$ in the previous section. Using (51) and (52) we get:

$$
\begin{equation*}
L_{-1} P_{\mu}=\sum_{\lambda=\mu+\square}(j-1+\beta(N-i+1)) B_{\mu \lambda} P_{\lambda}, \tag{53}
\end{equation*}
$$

where $(i, j)$ are coordinates of the additional box $\square$.
On expanding the exponentials in the right-most side of (50), one has to deal with terms of the type

$$
\begin{align*}
\left(W_{-2}\right)^{n}\left(L_{-1}\right)^{m} \cdot 1= & \sum_{\lambda=\lambda^{(2 n+m)}}\left[\prod_{(i, j) \in \lambda^{(2 n+m)}}(j-1+\beta(N-i+1))\right. \\
& \times \sum_{\lambda^{(1)} \ldots . . \lambda^{(m)}} B_{\phi \lambda^{(1)}} B_{\lambda^{(1)} \lambda(2)} \ldots B_{\lambda^{(m-1)} \lambda^{(m)}}  \tag{54}\\
& \left.\times \sum_{\lambda^{(m+2)} \ldots . . \lambda(m+2 n-2)} C_{\lambda(m)} \lambda^{(m+2)} \ldots C_{\lambda^{(m+2 n-2)} \lambda^{(m+2 n)}} P_{\lambda^{(m+2 n)}}\right] .
\end{align*}
$$

Setting $\bar{p}_{k}=a_{2} \beta^{-1} \delta_{k, 2}-a_{1} \beta^{-1} \delta_{k, 1}$ in the Cauchy identity (37), we see that

$$
\begin{equation*}
\exp \left[\frac{a_{2} p_{2}}{2}-a_{1} p_{1}\right]=\sum_{\lambda} \frac{P_{\lambda} \cdot P_{\lambda}\left\{\beta^{-1}\left(a_{2} \delta_{k, 2}-a_{1} \delta_{k, 1}\right)\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \tag{55}
\end{equation*}
$$

On the other hand, by definition of $B_{\mu \lambda}$ and $C_{\mu \lambda}$

$$
\begin{align*}
\exp \left[\frac{a_{2} p_{2}}{2}-a_{1} p_{1}\right]=\sum_{n, m \geq 0}[ & P_{\lambda(m+2 n)} \frac{\left(a_{2} / 2\right)^{n}\left(-a_{1}\right)^{m}}{n!m!} \sum_{\lambda(1) \ldots \lambda(m)} B_{\phi \lambda(1)} B_{\lambda(1) \lambda(2)} \ldots B_{\lambda(m-1) \lambda(m)}  \tag{56}\\
& \left.\times \sum_{\lambda(m+2) \ldots \lambda \lambda^{(m+2 n-2)}} C_{\lambda(m) \lambda(m+2)} \ldots C_{\lambda(m+2 n-2) \lambda(m+2 n)}\right] .
\end{align*}
$$

The above two equations together imply, for $\lambda=\lambda^{(m+2 n)}$,

$$
\begin{align*}
\frac{P_{\lambda}\left\{\beta^{-1}\left(a_{2} \delta_{k, 2}-a_{1} \delta_{k, 1}\right)\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle}= & \frac{\left(a_{2} / 2\right)^{n}\left(-a_{1}\right)^{m}}{n!m!} \sum_{\lambda^{(1)} \ldots \lambda^{(m)}} B_{\phi \lambda^{(1)}} B_{\left.\lambda^{(1)} \lambda^{(2)}\right)} \ldots B_{\lambda^{(m-1)} \lambda^{(m)}}  \tag{57}\\
& \times \sum_{\lambda(m+2) \ldots \lambda^{(m+2 n-2)}} C_{\lambda(m) \lambda(m+2)} \ldots C_{\lambda^{(m+2 n-2)} \lambda^{(m+2 n)}} .
\end{align*}
$$

Summing (54) over $n$ and $m$ with appropriate coefficients, while also recalling (43), we can finally write

$$
\begin{align*}
Z_{\beta}\left(a_{2}, a_{1} ; p_{k}\right) & =e^{W_{-2} / 2 a_{2}} \cdot e^{-a_{1} L_{-1} / a_{2}} \cdot 1 \\
& =\sum_{\lambda} \frac{P_{\lambda}\left\{p_{k}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \frac{P_{\lambda}\{N\} P_{\lambda}\left\{\beta^{-1}\left(a_{2} \delta_{k, 2}-a_{1} \delta_{k, 1}\right)\right\}}{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 1}\right\}} \tag{58}
\end{align*}
$$

Using (45), we get the desired result for the correlators

$$
\begin{equation*}
\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle=\frac{P_{\lambda}\{N\} P_{\lambda}\left\{\beta^{-1}\left(a_{2} \delta_{k, 2}-a_{1} \delta_{k, 1}\right)\right\}}{P_{\lambda}\left\{a_{2} \beta^{-1} \delta_{k, 1}\right\}} \tag{59}
\end{equation*}
$$

This relation was conjectured and verified for $|\lambda| \leq 9$ in [4], and here we provided its complete proof.

## 4 Linear and logarithmic potential

Finally, following an analogous strategy, we consider the eigenvalue model (6) with a potential with a linear and logarithmic terms. Superintegrability property of a linear theory $V(z)=z$ of $N \times N$ complex matrices was proven in [8]. We generalize that proof and include a determinant factor in the action, which can be also interpreted as an extra logarithmic term in the potential:

$$
\begin{equation*}
Z_{\beta} \stackrel{\text { def }}{=} \int_{0}^{\infty}\left(\prod_{i=1}^{N} d z_{i}\right)[\Delta(z)]^{2 \beta}\left(\prod_{i=1}^{N} z_{i}^{v}\right) e^{-a_{1} \sum_{i=1}^{N} z_{i}} \exp \left[\beta \sum_{k=1}^{\infty} \frac{p_{k}}{k} \sum_{i=1}^{N} z_{i}^{k}\right] \tag{60}
\end{equation*}
$$

This integral can be viewed as the $\beta$-deformation of the (anti-)Wishart model over the space of complex matrices of size $N_{1} \times N_{2}$, with $N=\min \left(N_{1}, N_{2}\right)$ and $v=\left|N_{1}-N_{2}\right|$, see e.g. chapter 13 of [20].

The Virasoro operators that annihilate the above partition function are given by

$$
\begin{equation*}
\mathcal{L}_{n}=-\frac{a_{1}(n+1)}{\beta} \frac{\partial}{\partial p_{n+1}}-a_{1} N \delta_{n,-1}+v\left(\frac{n}{\beta} \frac{\partial}{\partial p_{n}}+N \delta_{n, 0}\right)+L_{n}, \quad n \geq-1 \tag{61}
\end{equation*}
$$

The single constraint in this case is $\left(\mathcal{D}-a_{1}^{-1} W_{-1}\right) Z_{\beta}=0$, so that $Z_{\beta}=e^{W_{-1} / a_{1}} \cdot 1$, where

$$
\begin{align*}
W_{-1} \stackrel{\text { def }}{=} & \beta N(v+\beta N+1-\beta) p_{1} \\
& +\sum_{k, l=1}^{\infty}\left[\beta(k+l-1) p_{k} p_{l} \frac{\partial}{\partial p_{k+l-1}}+k l p_{k+l+1} \frac{\partial^{2}}{\partial p_{k} \partial p_{l}}\right]  \tag{62}\\
& +\sum_{k=1}^{\infty}(k-1)(v+2 \beta N+k-k \beta) p_{k} \frac{\partial}{\partial p_{k-1}}
\end{align*}
$$

which can be written as

$$
\begin{align*}
W_{-1}= & {\left[\mathcal{H},\left[\mathcal{H}, p_{1}\right]\right]+(1-\beta+v+\beta N)\left[\mathcal{H}, p_{1}\right] } \\
& +\beta N(v+\beta N+1-\beta) p_{1} . \tag{63}
\end{align*}
$$

This lets us write

$$
\begin{align*}
W_{-1} P_{\mu}=\sum_{\lambda=\mu+\square}[ & (j-1+\beta(N-i+1))  \tag{64}\\
& \left.\times\left(j-1+\beta\left(\left(N+\beta^{-1} v+\beta^{-1}-1\right)-i+1\right)\right) B_{\mu \lambda} P_{\lambda}\right]
\end{align*}
$$

where $(i, j)$ are coordinates of $\square$. Once again, expanding $e^{W_{-1} / a_{1}} \cdot 1$, we find terms of the type

$$
\begin{align*}
W_{-1}^{n} \cdot 1= & \sum_{\lambda=\lambda(n)}\left[\prod_{(i, j) \in \lambda^{(n)}}(j-1+\beta(N-i+1))\right. \\
& \times \prod_{(i, j) \in \lambda^{(n)}}\left(j-1+\beta\left(\left(N+\beta^{-1} v+\beta^{-1}-1\right)-i+1\right)\right)  \tag{65}\\
& \left.\times \sum_{\lambda^{(1)} . \ldots \lambda^{(n-1)}} B_{\phi \lambda(1)} B_{\lambda^{(1)} \lambda(2)} \ldots B_{\lambda^{(n-1)} \lambda^{(n)}} P_{\lambda^{(n)}}\right] .
\end{align*}
$$

Expanding $e^{p_{1}}$ in two ways, as demonstrated in the previous two sections, gives

$$
\begin{equation*}
\sum_{\lambda^{(1)} \ldots \lambda^{(n-1)} ; \lambda^{(n)}=\lambda} B_{\phi \lambda^{(1)}} B_{\lambda(1) \lambda(2)} \ldots B_{\lambda^{(n-1)} \lambda^{(n)}}=\frac{P_{\lambda}\left\{\beta^{-1} \delta_{k, 1}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \tag{66}
\end{equation*}
$$

while the products in the first and second lines of (65) can be evaluated using (43). Altogether, we find

$$
\begin{equation*}
Z_{\beta}=e^{W_{-1} / a_{1}} \cdot 1=\sum_{\lambda} \frac{P_{\lambda}\left\{p_{k}\right\}}{\left\langle P_{\lambda}, P_{\lambda}\right\rangle} \frac{P_{\lambda}\{N\} P_{\lambda}\left\{N+\beta^{-1} v+\beta^{-1}-1\right\}}{P_{\lambda}\left\{a_{1} \beta^{-1} \delta_{k, 1}\right\}}, \tag{67}
\end{equation*}
$$

so that, in this theory, the correlators are

$$
\begin{equation*}
\left\langle P_{\lambda}\left(z_{1}, \ldots, z_{N}\right)\right\rangle=\frac{P_{\lambda}\{N\} P_{\lambda}\left\{N+\beta^{-1} v+\beta^{-1}-1\right\}}{P_{\lambda}\left\{a_{1} \beta^{-1} \delta_{k, 1}\right\}} . \tag{68}
\end{equation*}
$$

This relation was conjectured and verified for $|\lambda| \leq 9$ in [4], and here we provided its complete proof. In particular, when $\beta=1$, for a complex linear model $\int d^{2} Z e^{-\operatorname{Tr} Z Z^{\dagger}}$, where $Z$ is of size $N_{1} \times N_{2}$, one finds

$$
\begin{equation*}
\left\langle s_{\lambda}\left(Z Z^{\dagger}\right)\right\rangle=\frac{s_{\lambda}\left\{N_{1}\right\} s_{\lambda}\left\{N_{2}\right\}}{s_{\lambda}\left\{\delta_{k, 1}\right\}} \tag{69}
\end{equation*}
$$

## Acknowledgments

We thank Luca Cassia and Maxim Zabzine for helpful discussions. It is a pleasure to acknowledge the package [21], which helped verify and guide our proofs. This work has been supported by the TEAM programme of the Foundation for Polish Science co-financed by the European Union under the European Regional Development Fund (POIR.04.04.00-00-5C55/1700 ).

## References

[1] H. Itoyama, A. Mironov and A. Morozov, Ward identities and combinatorics of rainbow tensor models, J. High Energy Phys. 06, 115 (2017), doi:10.1007/JHEP06(2017)115.
[2] A. Mironov and A. Morozov, On the complete perturbative solution of one-matrix models, Phys. Lett. B 771, 503 (2017), doi:10.1016/j.physletb.2017.05.094.
[3] A. Morozov, A. Popolitov and Sh. Shakirov, On (q,t)-deformation of Gaussian matrix model, Phys. Lett. B 784, 342 (2018), doi:10.1016/j.physletb.2018.08.006.
[4] L. Cassia, R. Lodin and M. Zabzine, On matrix models and their $q$-deformations, J. High Energy Phys. 10, 126 (2020), doi:10.1007/JHEP10(2020)126.
[5] A. Mironov and A. Morozov, Superintegrability summary, arXiv:2201.12917.
[6] A. Mironov, A. Morozov and Z. Zakirova, New insights into superintegrability from unitary matrix models, Phys. Lett. B 831, 137178 (2022), doi:10.1016/j.physletb.2022.137178.
[7] V. Mishnyakov and A. Oreshina, Superintegrability in $\beta$-deformed Gaussian Hermitian matrix model from $W$-operators, Eur. Phys. J. C 82, 548 (2022), doi:10.1140/epjc/s10052-022-10466-y.
[8] R. Wang, C.-H. Zhang, F.-H. Zhang and W.-Z. Zhao, CFT approach to constraint operators for ( $\beta$-deformed) Hermitian one-matrix models, arXiv:2203.14578.
[9] R. Wang, F. Liu, C.-H. Zhang and W.-Z. Zhao, Superintegrability for ( $\beta$-deformed) partition function hierarchies with $W$-representations, arXiv:2206.13038.
[10] J. Harer and D. Zagier, The Euler characteristic of the moduli space of curves, Invent. Math. 85, 457 (1986), doi:10.1007/BF01390325.
[11] C. Itzykson and J.-B. Zuber, Matrix integration and combinatorics of modular groups, Commun. Math. Phys. 134, 197 (1990), doi:10.1007/BF02102094.
[12] R. Dijkgraaf and C. Vafa, Toda theories, matrix models, topological strings, and $\mathcal{N}=2$ gauge systems, arXiv:0909.2453.
[13] P. Sułkowski, Matrix models for $\beta$-ensembles from Nekrasov partition functions, J. High Energy Phys. 04, 063 (2010), doi:10.1007/JHEP04(2010)063.
[14] A. Brini, M. Mariño and B. Eynard, Torus knots and mirror symmetry, Ann. Henri Poincaré 13, 1873 (2012), doi:10.1007/s00023-012-0171-2.
[15] I. G. Macdonald, Symmetric functions and Hall polynomials, Oxford Unversity Press, Oxford, UK, ISBN 9780198739128 (1998).
[16] W. Cai and N. Jing, Applications of a Laplace-Beltrami operator for Jack polynomials, Eur. J. Comb. 33, 556 (2012), doi:10.1016/j.ejc.2011.11.003.
[17] R. P. Stanley, Some combinatorial properties of Jack symmetric functions, Adv. Math. 77, 76 (1989), doi:10.1016/0001-8708(89)90015-7.
[18] S. Sahi, Difference equations and symmetric polynomials defined by their zeros, Internat. Math. Res. Notices 10, 457 (1996), doi:10.1155/S107379289600030X.
[19] Y. F. Naqvi, "A product formula for certain Littlewood-Richardson coefficients for Jack and Macdonald polynomials." https://doi.org/doi:10.7282/T35M6417.
Y. F. Naqvi, TIA product formula for certain Littlewood-Richardson coefficients for Jack and Macdonald polynomialsTLE, PhD Thesis (2014), doi:10.7282/T35M6417.
[20] G. Livan, M. Novaes and P. Vivo, Introduction to random matrices, Springer International Publishing, Cham, ISBN 9783319708836 (2018), doi:10.1007/978-3-319-70885-0.
[21] R. Coquereaux, Lie-affinelie-representations, GitHub repository (2020), https://github. com/RobertCoquereaux/Lie-AffineLie-Representations.


[^0]:    ${ }^{1}$ In the last stage of our work a similar proof, albeit only in a purely quadratic case, was presented in [9].

